KEY WORDS TO MATH SIGNS
	Sign
	Look for

	ADDITION
[image: https://usercontent2.hubstatic.com/11174171_f520.jpg]
	add
add to, added to
addition of
all together
altogether
and
both
combined
extra
	in all
increase by
increased by
join
more, more than
plus
sum
together
total, total of

	SUBTRACTION
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	decrease, decreased
deduct
difference
difference between
dropped, fell
fewer, fewer than
how much less
how many more
how much more
	how many left
how much left
less, less than
minus
nearer, further
reduce, reduced by
remaining
subtract
take away

	MULTIPLICATION
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	area of
at
by
double, doubled
each had
groups of
multiplied by
of
	product, product of
rate
per 
sets of
times
triple
twice
multiple

	DIVISION
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	divide evenly
divided by
equal parts
equal pieces
fraction
for each
half, quarter
how many each
	per, percentage
quotient
ratio, ratio of
share, share of
shared between
shared equally
split
out of

	EQUALS
[image: https://usercontent2.hubstatic.com/11174189_f520.jpg]
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	answer
are
corresponds to
equals, is, is equal to
makes
produces
	results in, result is
same amount
same as
same value
gives
equates to
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Match each sentence with the correct equation (place the question number beside the answer):
	1. A number increased by three is equal to nine.
	_______
	x – 9 = 6

	2. A number decreased by four is equal to twelve.
	________
	


	3. Four times a number is equal to sixteen.
	________
	x + 3 = 9

	4. A number divided by three is eight.
	________
	2x + 3y =27

	5. John’s age will be nineteen in three years.
	________
	x – 4 = 12

	6. Nine years ago, Mary’s age was six.
	________
	x2 = 16

	7. Six less than a number is 10.
	________
	0.05x+0.25y=5.65

	8. A number increased by five is equal to negative four.
	________
	4x = 16

	9. The square of a number is sixteen.
	________
	x – 6 = 10

	10. A number divided by six is equal to three.
	________
	x + 3 = 19

	11. I have x nickels and y quarters.  I have a total of $5.65
	________
	


	12. It takes 2 hours to mow a lawn and 3 hours to weed a garden.  In one month I mowed x lawns and weeded y gardens.  It took 27 hours.
	________
	x – 5 = -4


[bookmark: _GoBack]Example: Jenna ran 8 kilometres more than Kelly. The two girls ran a total of 28 kilometres. How far did each of them run?
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